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Description & Architecture

NoteSum is a note-taking App for students and professionals to efficiently manage their study notes

1. OCR for blackboards & handwritten & printed image processing
2. Use GPT-3.5 to summarize the notes for better managements
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Member since Apr 8, 2023

Account Information
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How to send a facsimile

In facsinile a photocell is caused to perform & raster scan over
the subject copy. The variations of print density on the document
cause the photocell to generate an analogous electrical video signal.
This signal is used to modulate a carrier, vhich is Cransmitted to a
remote destination over a radio or cable comunications link.

At the remote terminal, demodulation reconstructs the video
signal, w i i

at the transmitting terminal. As a result, a facsimile
copy of the subject document is produced.

Probably you have uses for this facility in your organisation.

Yours sincerely,

72

The author, P.J. Cross, is introducing the reader to the concept of
facsimile transmission. In facsimile, a photocell scans the subject
copy and produces an electrical video signal that is used to
modulate a carrier. The carrier is transmitted to a remote
destination over a radio or cable link. At the remote terminal,
demodulation reconstructs the video signal, which is used to
modulate the density of print produced by a printing device. This
results in a facsimile copy of the subject document. Cross
believes that the reader has a use for this technology in their
organization.
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here i diffrent from the app
used i clas. Tho lterature has used both. So do not get confused. For
instance, in this problem, o' preference is that she prefers b 0 hs (0 by 10
he
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in, the original preference profilelSIA AT, 'You should now find
that the resulting, allocation of houses by by misreporting
preferences is not Pareto efficient as, TTC strongly discourages.
misreporting. If you have time, you may compute, the resulting
allocation to show this. Problem Set 4 - 2023.pdf, Page 1 of 3, 0
0, Zoom, v, Share, Highlight Rotate, Markup, Form Filling, 1
Inspector, Abstract, Due by noon on April 28, 2023. This is the
final problem set., See, the syllabus fo, "cies., Allocation Problem:
Top Trading Cycles (TTC), Algorithm, Consider the following
housing market: There are four agents a1, 02, 03, 04, and, four
houses hi, h2, hy, ha, where a; s the initial owner of house h for
each, ; =1, 2,3, 4, and preferences of agents are given as:

This problem set is due by noon on April 26 2021 It is the final
problem set of the course. The focus is on i« A/ucation Problem:
Top Trading Cycles (TTC) Algorithm. There are four agents and
four houses. The preferences of the agents are given. The goal is
to compute the allocation resulting from Gale's TTC algorithm and
to verify that the resulting allocation is Pareto efficient. 7
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